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What are the e e1nal environmenta ctors that are essential to an
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Describe the main P10P051/10ns of the neo-classical organisational
theory.
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Describe the relationship between organisational culture and climate.

@ qEr ( A F e prfgfy w4 s
& l” W /
. “ ‘How does the poglicy of Flexitime’ affect organisational functioning ?”
| ~\Explain.
r / (e) /HaU- g o o w9l I THATEY |

Q2. (a) Hﬂmﬁw%mm%wﬁsﬁﬁaﬂ Spjpd '//%mam%?srﬁﬁ%
fafts =irdi =t foeam & :

How isused as a to ' ‘ ? Elaborate in
detail the Variou r. ‘ b Rusclhor

b)  “F G H, Th Aey 9 H T frenarieR fit-oR wn weegot T
- SHamg | Wmm%mﬁaﬁmmﬁmwmaﬁﬁa
g =i | e Woender T

“Profit maximizdtion as a goal, is being gradually considered less

important in many organisations.” Express and justify your opinion on
the above stafement.
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Describe ‘Perceptual Process Exp1a1
interpretation of stimuli. /
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Answer each of the followmg I about 150 words :
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A good ;ob -description leads to improved employee satisfactiop »
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€ purpose of employee orientation.
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“Competition among industries often leads to labour turnover.” Do you
agree with the statement ? Justify your answer.
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i contribute to,~the betterment of
Employer-Employee relations ?Describe._ / | 20

and Trade Unions.” Comment on the above statement. 20
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Describe the scope and relevance organisations today. 20
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Describe the status of Industrial Relations in the Indian Public Sector S
Undertakings. - 20
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How do organisations identify thWOf their employ y
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